

$$[IV] \quad I_n = \int_0^x t^n e^{-t} dt$$

$$(1) \quad I_0 = \int_0^x e^{-t} dt = [-e^{-t}]_0^x \\ = 1 - e^{-x}$$

$$I_1 = \int_0^x t e^{-t} dt \\ = [-t e^{-t}]_0^x + \int_0^x e^{-t} dt \\ = -x e^{-x} - [e^{-t}]_0^x \\ = -x e^{-x} - e^{-x} + 1$$

$$(2) \quad I_n = \int_0^x t^n e^{-t} dt \\ = [-t^n e^{-t}]_0^x + \int_0^x n t^{n-1} e^{-t} dt \\ = -x^n e^{-x} + n I_{n-1}$$

(3) 証明  $n!$  を用いて

$$\frac{I_n}{n!} = -\frac{x^n e^{-x}}{n!} + \frac{I_{n-1}}{(n-1)!} \\ = \frac{I_{n-1}}{(n-1)!} - \frac{x^n}{n!} e^{-x}$$

このように

$$\frac{\bar{I}_{n+1}}{(n+1)!} = \frac{\bar{I}_n}{n!} - \frac{x^{n+1}}{(n+1)!} e^{-x}$$

1720.2 階級数列  $\left\{ \frac{\bar{I}_n}{n!} \right\}$  は

階級数列となる

$n \geq 1$  のとき

$$\begin{aligned} \frac{\bar{I}_n}{n!} &= \frac{\bar{I}_0}{0!} - \sum_{k=0}^{n-1} \frac{x^{k+1}}{(k+1)!} e^{-x} \\ &= 1 - e^{-x} - \sum_{k=1}^n \frac{x^k}{k!} e^{-x} \\ &= 1 - \sum_{k=0}^n \frac{x^k}{k!} e^{-x} \end{aligned}$$

$$\therefore \bar{I}_n = n! \left\{ 1 - \sum_{k=0}^n \frac{x^k}{k!} e^{-x} \right\} \quad (n \geq 1)$$

このように  $n=0$  のときも成り立つ

$$\bar{I}_n = n! \left\{ 1 - \sum_{k=0}^n \frac{x^k}{k!} e^{-x} \right\}$$